Section 9.6: The Cost of Home Ownership
Objectives

l"ndcr\lnnd mortgage options
(.mnpulc the monthly payment
Compute payments and interest for

and interest costs for a morigage
other kinds of installment loans

Mortgages

A mortgage is a long-term loan for the purpose of buying a home

The dawa pmrrmﬁf is the portion of the sale price of the home that the buyer imtially pays to the seller
gage is the difference between the =a 0_, _#,7,_,“(_»_4 and the down payment.

The amount of the morr

fm;z{ rcC}( meor }4‘45:75 have the same rrjonlhlyrpu)»rnrcnl during the entire time of the loan

Computations Involved with Buying a HHome

Many lending institutions require the buyer to pay one or more 0 ;,1; < at the time of closing—
that is, the time at which the mortgage begins 7/
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A point is a onetime charge that equals |/, of the loan amount.
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For example, two points means that the buyer must pay ,/ /2 of the loan amount at closing.

or the

A document, called the Truth-in-Lending Disclosure Statement, shows the buyer the APR {c
mortgage. Ak

In addition, lending institutions can require that part of the monthly payment be deposited
intoan_ R2Scromn) w7 oviAT—_, an account used by the lender to pay
real estate taxes and insurance.

g ol

—_— =




Loan Payment Formula for Installment Loang——— - |
The regular payment amount, PM7, required to repay & loan of P dOllag} paid n times n times / T4 i) 2_))
per years over 7 years at an annual rate » MoA i ’\
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Example 1: The price of a home is $195,000. The bank requires a 10% down pa
time of closing. The cost of the home is financed with a 30-year fixed rate mortga

yment and two points at lhe n=1z

ge at 7.5%. B
z‘ 30

a. Find the required down payment. [070 of ‘l qs,wo e

= .ro x 95,600
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b. Find the amount of the m ortgage = /,D/rN MMH’ bormk)tﬁ é#d;r:rﬁ:w Pa:
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“ ¢ How much must be paid for the two points at closing?
2% o+%F lean amount

= .02 x 75,500
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d. Find the monthly payment (excluding escrowed taxes and insurance).

75
175,500 :
= :#l 27,12 monthl
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e. Find the total interest paid over 30 years.
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= 206,220
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Example 2: The price of a home is $465,000. The bank requires a 20% down payment at the time of closing.
The cost of the home is financed with a 30-year fixed rate mortgage at 5.5%

- a. Find the required down payment P . . % ot
20% o 465000 F- 3D }
20 x 45,000 =" 13,000 P .
b. Find the amount of the mortgage.
z//ég‘wo j,j,p( /dr/((’
= L)} OOQ Aoidn /m Mévf‘
)D = 372,000 borrowe
¢. Find the monthly payment (excluding escrowed taxes and insurance).
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d. Find the total interest paid over 30 years.
/HIQ/M]"‘-CM‘J 3 ) — loan éx;;-wuﬁ
2112)(2)(z0) = 272,600
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¢. As another option, the family decides to consider a 20-year mortgage, still at 5.5% and with a 20%
down- payment. Find the monthly payment and the total interest paid over 20 years. / t =20 ) o /7 (lmj(;
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Monthly Payments and Interest Costs for Other Kinds of Installment I

oo e i s loans, each
Example 3: You decide to take a $20,000 loan for a new car. You can select one of the following loa e
requiring regular monthly payments: p= /2
Installment Loan A: 3-year loan at 7%.

Installment Loan B: 5-year loan at 6%.
a. Find the monthly payments and the total interest for Loan A.
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b. Find the monthly payments and the total interest for Loan B.
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¢. Compare the monthly payments and total interest for the two loans.
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